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The graphs of the polar curves r = 4 and r = 4 cos 6 are shown in the figure below. Let R be the
shaded region inside the graph of r = 4 cos 0, but outside the graph of r = 4. Find the area of R.
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Question 2
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The figure above shows the graphs of the circles #* + 3% = 2 and
{(z-17 +4* =1. The graphs intersect at the points ( 1 Lj a.nd {1,—1).
Let R be the shaded region in the first quadrant bounded by the two

cimles and the z-axis,
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_x that represents the area of R.

{b) Set up an expression involving one or more integrals with respect to
_y that represents the area of R,

(¢) The polar equations of the circles are r = 3 and r = 2 cos 8, respectively. Set up an expression
involving one or more integrals with respect to the polar angle 8 that represents the area of R
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Area of Polar Graphs: AP M/C Practice

1. Determine the area of the inner loop of the polar curve » =1 - 2sin(6).
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&8 2. The graphs of the polar curves =1 and » = 1 + cos(#) are shown in the figure below.

If R is the region that is inside the graph of » = 1 and outside of the graph of » =1 + cos(6),

the area of R is:
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3. The area of the closed region bounded by the polar graph of r = V3 + cos 8 is given by the
integral: i \/3*@59;‘ \:5
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4. The area of the region enclosed by the polar curve r = 1 — cos 6 is
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